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A+B for Input-Output Practice (I)

Time Limit: 2000/1000 M5 (Java/Others) Memory Limit: 65536/327T68 K (Java/Others)
Total Submission(s): 68100 Accepted Submission(s): 26833

Froblem Description

Your task is fo Calculate a +b.
Too easy?! Of course! [ specially designed the problem for acm beginners.
You must have found that some problems have the same titles with this one, ves, all these problems were designed for the same aim.

Tl i3
INPUL

The input will consist of a series of pairs of integers a and b, separated by a space, one pair of integers per line.

For each pair of input integers a and b you should output the sum of a and b 1n one hine, and with one line of output for each line in input
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Y AHL PR o
Input:  A,B,X &R T

Output: A,B,X

Algorithm is described as following #include<iostream>
. Int main()

Test case (input, expected output) {

using namespace std;
int A,B,X;
Cout<<“please input A:”;
cin>>A;

Cout<<“please input B:”;
cin>>B;

Cout<<“please input X:”;
cin>>X;

if (A>0&B=0) X=X/A;

if (A=2&X>1) X=X+1;
Cout<<*A="<<A;
Cout<<“B="<<B;
Cout<<*X="<<X;

Return 0O;

Y Y }
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CHRAE
L1(a—>c—>e)

={(A>1)and(B=0)}and{(A=2)or(X/A>1)}
=(A>1)and(B=0)and(A=2)or(A>1)and(B=0)and(X/A>1)
=(A=2)and(B=0)or(A>1)and(B=0)and(X/A>1)
L2(a—>b—>d)
={(A>1)and(B=0)}and{(A=2)or(X>1)}

={(A>1)or(B=0)}and{(A=2)and(X>1)}
=(A>1)and(A=2)and(X>1)or(B=0)and(A=2)and(X>1)
=(A<1)and(X<1)or(B#0)and(A#2)and(X<1)
L3(a>b—>e)
={(A>1)and(B=0)}and{(A=2)or(X>1)}
={(A>1)or(B=0)}and{(A=2)or(X>1)}
=(A>1)and(X>1)or(B=0)and(A=2)or(B=0)and(X>1)}
= A<1)and(X>1)or(B#0)and(A=2)or(B#0)and(X>1)
L4(a—>c—>d)
={(A>1)and(B=0)}and{(A=2)or(X/A>1)}
=(A>1)and(B=0)and(A#2)and(X/A<1)
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do something;
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o -example

ACHIE

Case A B C Outcome

Al FALSE FALSE TRUE FALSE

A2 TRUE FALSE TRUE TRUE

. %#AZME&E#J@% A 7 possthe
Case Outcome

Bl FALSE FALSE TRUE |FALSE| |
B2 FALSE TRUE TRUE | TRUE |

l

No

|

Aor(B&C)

Yes

Do-sth
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Case Qutcome
Cl FALSE TRUE TRUE TRUE
C2 FALSE TRUE FALSE FALSE
2 R T 2R I FH 191 26
o AR TR SR A I 451 B2
Case A B C Ouftcome
1 (ALBI) FALSE FALSE TRUE FALSE
2 (A2) TRUE FALSE TRUE TRUE
3 (B2.C1) FALSE TRUE TRUE TRUE
4 (C2) FALSE TRUE FALSE FALSE
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* Linear Code Sequence And Jump
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Example

READ (Num) ;
WHILE NOT End of File DO
Prime := TRUE;
FOR Factor := 2 TO Num DIV 2 DO
IF Num - (Num DIV Factor)*Factor = 0 THEN
WRITE (Factor, & 1s a factor of', Num);
Prime := FALZE;
ENDIF:
ENDFOR;
IF Prime = TRUE THEN
WRITE (Num, ~ is prime');
ENDIF;
READ (Num) ;
ENDWHILE;
WRITE ( End of prime number program');



FEFr

(2->3)
(2->15)
(4->5)
(4->10)
(5->6)
(5->9)
(9->5)
(9->10)
(10->11)
(10->13)

(14->2)

: Jump

: Jump

: Jump

: Jump

: Jump

: Jump

B SMEACHT Py 1 Bk L
FH N ) 26 A F

requires NOT End of File

requires End of File

requires the loop to execute, 1.e. Num DIV 2 is greater than or equal to 2
requires the loop to be a zero-trip. 1.e. Num DIV 2 is less than 2
requires the IF statement on line 5 to be true

requires the IF statement on line 5 to be false

requires a further iteration of the FOR loop to take place

requires the FOR loop to have exhausted

requires Prime to be true

requires Priume to be false

must always take place



AN E A Py S Bk % B3R AT 1R

T (=20
ST ART FINNISETL JTNWAP T TINIES
T. I~ T.TINE T.TINE EXTECLITEIT>
1 = 15 Oy e e e
1 = 3 1 Or Oy = e e
1 = < 1
1 b= = Oy =5 s
1 1 13 )y 5 e
1 1 -4 = )y 5 e e
= = 15 1
= = 3 1 O 1
= = o Oy e e e
= < = 1
= 1 1= Oy = s
= 1 -4 = Oy E s s
= 1 13 1
= 1 -4 - ) = sk e
< < = ) = sk sk
< 1 1= Oy ===
L= 1 -4 = 1
1 O 1 O 13 Oy E s s
1 1 -4 = 1
13 14 =2 1
15 15 escit 1
T™STiumiber of T OS . ATs =3
~Shiuanber execuited <»
T™SNiurmber 1ot exaeciitaecl 1=
I "5SS A0 Coveragse e ]




HHE UMK (Data Tlow Testing)

« FTAENFER (all-definitions) : BrH B PAT A
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procedure Solve Quadratic(A, B, C: in Float; Is Complex: out
Boolean; R1l, RZ: out Float) is

—— Is Complex is true if the roots are not real.
—— If the two roots are real, they are produced in R1l, RZ.

Discrim : Float := B*B - 4.0*A*C; -
R1, RZ2: Float; —

begin -
if Discrim < 0.0 then -

Iz Complex := true; -

else -

Is Complex := false; -

end if; -

if not Is Complex then -

Rl := (-B + Sqgrt(Discrim))/ (2.0*R); -

R2 := (-B - Sgrt(Discrim))/ (2.0*R); -

end 1f; -

end Solve Quadratic; -
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category
line definition c-use p-use
0 AB.C
1 Discrim AB.C
2
3
4 Discrim
5 Is Complex
6
7 Is Complex
8
9 Is Complex
10 R1 A.B.Discrim
11 R2 A.B.Discrim
12

13

[\
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definition-use pair variable(s)

(start line -> end line) c-use p-use
0---=1 AB.C
0---=10 AB
0--->11 AB
] --->4 Discrim
1--->10 Discrim
1--->11 Discrim
5-->9 Is Complex
7 -->9 Is Complex
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7€ X 7B 7 (all-definition) 3

All Definitions INPUTS EXPECTED OUTCOME

test case | variable(s) | du-pair subpath B Is Complex | RI R2
1 AB.C 0--=1 0-1 1 T unass. | unass.
2 Discrim 1-->4 1-4 1 T unass. | unass.
3 Is Complex | 5-->9 5-9 1 T unass. | unass.

4 Is Complex| 7-->9 7-9 2 F -1 -1
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17& 35 (all-c-use) M|z

1451

All-c-uses INPUTS EXPECTED OUTCOME

test case | variable(s) | du-pair subpath B Is Complex | RI R2
1 AB.C 0-->1 0-1 1 T unass. | unass.

2 AB 0-->10 0-1-4-7-9-10 2 F -1 -1

3 AB 0-->111| 0-1-4-7-9-10-11 2 F -1 -1

4 Discrim 1-->10 1-4-7-9-10 2 F -1 -1

5 Discrim 1-->11 1-4-7-9-10-11 2 F -1 -1




B 18 1h)45

( 47

4

78 3 (all-p-use) I
{151

All-p-uses INPUTS EXPECTED OUTCOME

test case | vanable(s) | du-pamr subpath A| B | C |Is Complex| RI R2
1 Discrim 1-->4 1-4 1 1 1 T unass. | unass.
2 Is Complex | 5-->9 5-9 1 1 1 T unass. | unass.

3 Is Complex | 7-->9 7-9 1 2 1 F -1 -1




a1 HZE D Call- use) ML H

( 47

All-uses / All du-paths INPUTS EXPECTED OUTCOME

test case | variable(s) | d-u pair subpath A| B | C |Is Complex| RI R2
1 AB.C 0-->1 0-1 | 1 | T unass. | unass.

2 AB 0-->10 0-1-4-7-9-10 1| 2 1 F -1 -1

3 AB 0-->11| 0-1-4-7-9-10-11 1| 2 1 F -1 -1
4 Discrim 1-->4 1-4 1 1 1 T unass. | uUnass.

5 Discrim 1-->10 1-4-7-9-10 1| 2 1 F -1 -1

6 Discrim 1-->11 1-4-7-9-10-11 1| 2 1 F -1 -1
7 Is Complex| 5-->9 5-9 1 1 1 T unass. | unass.

8 Is Complex| 7-->9 7-9 1 2 1 F -1 -1




Partial Ordering of Structural Test
Coverage Criteria

where:
B - Branch coverage/Decision coverage
BC - Branch Condition coverage
BCC - Branch Condition Combination coverage
DCU - All C-uses coverage
DPU - All P-uses coverage
DU - All du-paths coverage
L - LCSAJ coverage
MCDC - Modified Condition Decision coverage
S - Statement coverage
O X-RMET, IR TR AR R D



B )k

i B E fe T 5 A 3?3’]?\1%5%1‘@@%@‘@
fz?%ﬂﬁﬁ%%ﬁ,ﬁi ﬁ@img
) He
il

R

%ﬁﬁi%%%ﬁ%ﬁﬁ%,ggﬁﬁ‘kg
S Sy R B

ik BRI J LR R
(D 2 EBAAEBALE )N T PI)EE°?
O fEHEO B, AN B2, SEHHIEfhrsER?
) A R 1"3%519%32%%5’%%%Iﬂ%%w%"
4) Ege RS2 Bk ?

(5) & W et B (b4 R 2

m
it#

X

f PP AR K48




B S ey e

Bl BH PR HE =B R AN B,
N ENL K160, A EEER] Wm@ﬁ

gm-:A%Aﬁ%m%ﬁT e fE HIHRSIH &

216 % 216 % 216 —948~3 X 1014%;[:

2 Ui, ﬁ%%EELAﬁﬁﬁﬁ@qm%j‘
‘H“E{E@U “FIR7 Wik BEEHIT —IKFEF
ZR, PUTIXAZIKKLI T E— JT4E Tﬂ%
SR ) KA A T, A A e
e 2 M N e e Toik b




/:4@\9%{&/\
RS ER i

A R B

e da

IRSEHM K (state transition testing)

TV




M7 /—‘\\\ A N
AR SRR
' T
- .
o giig | (1446
Beiy R LN
oy A | | HE

\./fﬁ\

FREE

LiLabs

1t 1 8511 B

hEE




/:4@\9%{&/\
RS ER i

A R B

e da

IRSEHM K (state transition testing)

TV




4

e ss7p)

)

> ﬁfﬁ%’@zﬂ/ e MR R ST, e

Pl S ) ;d)”J W7k fE

X

KA, 58

A %f; PR B, UK AP O MR UL

KRBT H B

> EHIE T B BT TR F B 7 i

AR, BOE R — A A
1 F 5 X 2R A s HARE I AE

1T, U@Efjﬂ R ) R o

JH 4

ERAR/IRTEE

P

Ao SRJE ]

IR 5 I — 2 FAERIER



4

24l

(D X2k
LA R BRI 34T PR AN R D -

(D) GHSEM IS By ANEHE T R PR ) A\ EL
ﬁﬂ%’mﬁiﬁm%kﬁﬁ§$$§52@§
WA =)
R B e P RSk
(2) /N /\fiﬁﬁl\* By N B A /%E%az)?@%ﬁ%ﬁﬁiﬁu
ANEHEIYE, LR XBMIANEEE S, [THA

i R
T Be z R b/I| T 1&
I !



S XNESp)

2. FEYPrRA] o R

D WEARHFANSKAIE T BUETCH, SUE R AE, AT LU
e M AT RPN RN 28 Flan: a0 R I 4 A
15F%JLE¢HJ]\§&%EEI’JEME«E Hlxg: 1299, MIA =K
&1, 991, PIANTEREEI SR “/J\?lfFﬂjt?%El’Ji&”

@) R NFE M EMNERES, & eME T “DIoa

ﬁM 7 BISRAE, )”'JTﬁ‘ﬁif/\ﬁxﬁéﬁl\%‘é%ﬂ*{\%xﬁéﬁl
flan. EIREEFERIE S AR EANRFTIE Y “ Ly

EL?BEEI’J$” ﬁﬂ&ﬁﬁﬁU?E@T%H‘ﬁ@)ﬂiﬁ&ﬁ%%%’é,

TU%EH%E’JE?%%&*QW%‘&

(3) Un Bl A\ 2% ﬁimé/\?ﬁd\%, A LA — AN R0 55

Yy AN — AN TE A A 28




S XNESp)

@ WER e T HIEN—HE, 1 B AR EXH AN N AR 20 AT AL B
YﬁTﬁt*A%A@%E*Aﬁﬂﬁm I ANER X IX ZHAE i oE —
k) ‘3?ﬁz?ﬁﬁﬁ%éﬁ%ﬁ%E?ﬁ/\%z‘mﬁ”ﬁaﬁ?ﬁéé’j

L&EF’ JJJ%E4 | ﬁx)‘&:é/ﬁ)l\jt ;Z 1EEl fx % %
*A%ﬂﬁhﬁ,bmﬁﬁfﬁﬁLL%T m%A@m%A

<&@%ﬂm7%kﬁﬁﬁﬁL#MMW WTU%*ﬂAﬁﬂﬁm
CREE D HIE P TRUSHR CNA[E %&@&ﬂﬂ) B,

Pas%?hclcj&%;ﬁ&ié?ié%“—“f‘ ﬁﬂiﬁﬁ%&i/ RN %%ﬁi§1o7gfﬁffﬂ
CLifiE — A REEA R “LL <5 ” %? e “LA
D g e T e ] 1D g RS

(@W%%ﬂ,aﬂ\M%ﬁ 15590 %,EEV$MQ@ﬁﬁETHm
DU R e AR 2R — 25 R o N /N B SR 2R

q.



&

S XNESp)

3. S A4 S B
B RS, TSR I R R
Xt RTINS DL T E X, R R k.

%K T4

L

WA HREF R VY E SIS




/T‘

b

S XNESp)

1451

(D) NEFFI R E — P ME— 1R

(2) Bt — A

(3) BEit—

o, A2 RS AT HA A i TR R A

B2 P HEUENEL. ERX—5, HRhA

I R AR

78 i N IE .

i, fEeE s H A

— N HARPE S TREEN R, ER PR, H

ZIA A G

> === -
77545%755%



R, WA RA SR
B R R X 8%l S0 R

mirR) KIE
SKIEH-IER
BEeEK K
e R
' < = st i
EEN FEiB
=eka ety nde=dam
I_l

TR EH-S

RES Sl
NNIFREER .

I\

1

W

2] T =)

191

N
| —a

. 1%

-

—1 A

la

SR R



A FHE 7 BT
e SRR IDEYIUE

1)11D%§m)\ AFRUE TRV, D0 BRI TA 315X A Y ] 32 7 AE

# ﬂtiﬂjﬁ/l\?ﬁllﬂ Hﬁfﬁfﬁﬁfﬁ”fﬁm?\éﬂ)ﬁ i, HiAE
G5 ©1.0~1.07, JIn] kI “_1,001”#1 “1.001”

T Tl AR

2) U N SR RE TN S W BRI R s/ EeEscRAS
=1, H:BWJ\/\%Z '\ﬁl’JéM’EﬁU”Jﬁ@&?E Wﬁﬂ — NI AF A
1~2557 sk, WA BLAr it ie s . 25585k BL 0N 1e s Al
256110 5k BT A A .

3)*@i§%¢$§1&ﬁ%ﬁﬁtAf§ﬁtﬂff¢ @Eﬁﬁﬁuﬁﬁlﬁﬂémﬂlé Blan, FRER
et et EdringE, s&PrinELoot, miEmdn DETElOSOTD WLY
11— ‘ﬂﬁ{)”JﬁﬁﬁﬁJ e a4 0751050 T I 45 5. AT,

Z BB a5 BN B BCK T 105070 B IR 4] .



ST AT

4) R A DU VU] O 0 3 Ao B AT SR M2) . il

—‘/\,f_l;u o R R ?T]\TE'ﬁ\/\ 7N I SRR

ﬁ‘iﬁ‘ 1_%§/\JAT4%T ik ;Haf%ﬁxfr jjlb/)”]ﬁﬁﬁ%

ﬁﬁ/%ﬁ PSR, 4k, Okedi B, FFWwi—1a]
Re i AE r Iﬁﬂﬂﬂﬂ‘S%ﬁﬁﬁ’J{WﬁﬁﬁW

5) ﬁﬂ%ﬁ? i) %M%%Eﬁ?/\tﬁ i) iﬁu)\ﬁijﬁﬁu H 2 T4

(nATTE . W), NI Iy St
VST it

6) ﬁﬂ%%z?ﬁijﬁﬁﬁﬁ?*/\ljﬂﬂéﬁ)% wiAL, U =% XA

R EE AL iﬁ@LB’JEf bl tﬁmﬂ wilhn, an R
METq N - § ang A 520, ﬁJ:?%mlOO

<Xt
A2 N Jf_ﬁ.itﬂlﬂiﬂ /\éﬁléﬂd\ﬁ FME, Wo5100, 1EN
URENEERIR

7) o ARSI, RS H A AT RE R IL T S A




H e YA

o FHRMEMVAER R EEEE W MAmI . EHRRAE

FER 15 R AT O AR R 5 R A S R T
B, JF LRSS TP R o T s 5 e 1
Rt A — BE 2 04 2 R

o Ban, A AEE 3 ald A Y FAEE R o R AR R

I L N S O SRV AL i, Bk s
WRMTED B A% E oR RN 5L (it
RN NGB L2 5 A b, SERAZIT A5 b
AU MI 10, Rk th R B M (32, LM
LA RO, RIS DA 5 A
1EHH o

~




M/

H e 22

o SEANKI AN TG o AR W RS S
FES AN NBE IR TR0, 1A % R
ZNHINBAERIHE RN, rlgeeinls |
NEE g T HERHEE M. EERA
QHAEI'J*/\ﬁ)& F A2 e A A R E K e
WO E, M AEESMAHE SRR
MWAERIBIE (AN 345 8 2 8]
XNV R, R NAERNE ]2 /Di%
TR A 5




1. K

BAITZIE

25 A
HEG

PRl fi
)7 1

\I

) 1E H yo [
R am AL HEANZE S 2 M EH
rﬁ ’ Eﬂ’fﬁﬂﬂﬁﬁﬁ 1 /ﬂi/ﬁ:jal 4
A] i 25 ﬁ/ﬁiﬂlﬁ¢%o K| H b 20
] —Fhid & TR X
AR %/\?ﬁ]f/ §0p)

111,
s &a

A ok YA

\}&:@1{?7

‘%ﬂjﬁ\ﬁﬁﬁ'}

/ﬁ%%ﬁm

X5 75 A

/\_

AN RS %IJE?% :
B AR TN A I S A 2 A f%/ﬂ




2. HHRHRE

m%ﬁﬂ?
A HY
5Fﬂ E B

)73 BT A A 10t EU%TEaL_EF' i0K
2RI R R 2R, ) L

EYPSESPLNPS

BV H T EECALI R, 725
Z A EF DA A REH L -
AR B — lﬂﬁﬁﬁﬁfﬁé’]ﬁl@ZEE%J Ao

%M%LEEEU%TMEEP

HA2K), WREE RS

MR — /\ﬁu\

Al R

WL

=

A A e B

DIEFRE

R P E SR

OFEHE R AIE— A ZE H>

YA

VR AL A B O 2 AR 2D 3R

JE IR (B N\ 2544 B8 4

R (R 26 ), HFaaRA R

Tk Hi SR ERLA 25 3R 22 ]

2 8], JREEALER

NRWIX B IR TR DL, 12

ST

BT H 4



A R YA

LR AT

1CiZZ N R B ﬂaﬁﬁn%’;

25}

%Toiﬁmr*$ BB A




A 2R YA

P IR R AN 5 IR 22 18] — X — IR R N R &

) XH%Q" NET NN Cy it TP
TR R G R 2 B — M5 E R AR 757
Jgﬂn )”'J?*%TLJEJ” R K Tﬁf)ﬁ[, MM 45

(c)Bk(V): R LA ERE AT —AN ML, WEE R
R VRS T DR S
@)25(n): FEFIL A, WERA 0.
I REFE —DMAEM, SFREMABIN.

%

EE

V

(a

SH— FERH
lll L-ér‘}ﬂ}l

T"I"T"




Example

I thre are suffcien inds availble i the account or fhe e balance vould be i
e authorsed overdrat it then th debit s processed, 1 themew balance would

exceed e aufhorsed overchat it then fh debit i3 nof processed and f s a posta
gecount it s suspended. Lefersaresenfout for all fremsactions om postal accouns g
formon-postal accounts if here ave insufcient finds availabe .. the accoun would
10 onger be in credi



Cause effect graph

C1 New balance 1n credit :é
C2 New balance overdraft. but within authorised limat :

R . A3
C3 Account 1s postal

Sa (83
This figure uses standard logical symbols
for AND and OR { Aand V respectively)
and the wavy line ({_ ) indicates NOT.
The arc groups those inputs affected by

a logical symbol | where there are more
than two inputs involved.

Process debit
Suspend account
Send out letter



Rules:

('1: New balance 1 credit

('2: New balance overdraft.
but within authortsed Limit

C3: Account 15 postal

Al: Process debit

A2: Suspend account

A3: Send out letter

_ | 3|




Test cases

CAUSES EFFECTS
test account overdraft current debit new action
case type limit balance amount balance code
1 'c! £100 -£70 £50 -£70 '
2 p' £1500 £420 £2000 £420 'S&L'
3 'c! £250 £650 £300 -£150 D&L
4 p' £750 -£500 £200 -£700 D&L
5 'c! £1000 £2100 £1200 £900 D!
6 p' £500 £250 £150 £100 D&L




State transition testing

 I0de] 5 roduced [01' he

oot b ey o
oS, 2 her e md Mo, e evan

1 action —» output
e rnston digrs (STD) e |

comonly used a5 state mmodel and ther

oo 15 bl st ppo

a—

[l ]



STD example

reset' (R)
alter tuime (AT)
DISPLAYING CHANGING
TIME (S1) < TIME (S3)
‘ 'time set' (TS)
display time (T)
'change
'change

de' (CM
mode' (CN) mode" ( )

: display
display -
tume (1) date (D)
reset' (R)
’ alter date (AD)
] >
DISPLAYING

CHANGING
DATE (S4)
-4
'date set’' (DS)

DATE (52)

display date (D)



Test cases

Test Case 1 2 3 4 5 6 7 8 9 10
Start State S1 | SI | SI | S3 | S3 | S2 | S2 | S2 | S4 | &4
Input CM|CM| R |TS | TS |CM |CM | R | DS | DS
Exp. Output D D | AT | T T T I |AD | D D
Next State S2 | 82 | 83 | SI | SI | SI | SI | S4 | 82 | 82
Input C(M| R |TS | CM| R |CM| R |DS|CM| R
Exp. Output T |[AD | T D |AT | D | AT | D I | AD
Finish State S1 | S4 | S1 | S2 | S3 | S2 | §3 | S2 | S1 | &4




1BV (Syntax Testing)

o EVEM R —FANE TV, BT
oy N2 O 1B RAR AR G R A5, R
A1) 16 A ER F NI T BB K A 2 2
Nb o JEIIEVRNR, B DA E AR im N BB
ez, ABiEF B R4s, I H A
NG S N




1BV (Syntax Testing)

/?E{)”J X =R R A B R -

AN IR AR
~FEUSCAS IR AR

A

ERI— A AR I A TR




T H 25 Hbug

200%+200%

6
@ = X <]
7 8 9 -
4 5 6 +




float
it
nat
dig

LI ]

it "e" int.
["+"]"-"] nat.
{dig}.

11{:}“ “].”|”2“|”3" rl411 HS” 116” 11?” 118H|IF911

72 (Syntax Testing)

test case float_in option(s) executed check res

3e2 opt_1 walid!'

2 +2e+5 opt 2 walid!'
3 -6e-7 opt_3 walid'
4 te-2 opt_4 walid!'
5 1234567890e3 opt 5 walid'
6 el opt_6 walid'
7 lel opt 7 walid'
8 2e2 opt 8 walid'
9 3e3 opt 9 walid!'
10 4ed opt 10 walid!'
11 Se5 opt 11 walid!'
12 6e6 opt 12 walid!'
13 Te7 opt 13 valid!'
14 8e8 opt 14 walid!'
15 Oe0 opt 15 walid!'




1|:|

float
int
nat

dig

int "e" int.
[”+“|"-“] nat.
1dig;.

IFDH rI111 rlle " %I! 114r| 11q‘r||u611|u711 r|811 r|9|!

el 1
el 5
el 8
el 10

YL/)” i (Syntax Testing)

2el 3el 4.
el_ﬁ el_
el 9.
el 11.

test case float _in mutation element check res
1 e 1l N for el 2 "invalid'
2 Oz el x for el 3 "tmrvalad”
3 Oex 1l = for el <4 invalid!
-+ HOa0 1l N ftor el o invalid'
5 e el x for el 7 ‘invalid'
o ec 1m2 el 3 for el1_2 invalid'
7 a0 2 el 6 for e1_2 invalid"
= [alale 12 el 2 for el 3 "invalid'
o 0—+0 1m2 el 6 for el 3 invalid'
10 Oee e el 3 for el 4 ‘invalid'
11 Oe+ =2 el o for e1 4 "Tnvalid!
1= eOe( =2 el 3 for el invalid'
13 +ea( T el 3 for el 7 "imvalid’
14 +—+e=0 =2 el & for el 7 "Tnvalid!
15 el m3 el 2 invalid"
16 o0 13 =l 3 "inmwvalid'
17 Oe 1m3 el 4 invalid'
18 »Oe( 1=t »imel 1 invalid'
19 OO 1=t win el 1 "Tnvalid!
20 QexO S »wimel 1 invalid'
21 OeOs 1=} » im el "imvalid’
22 »w+H0eO 1=t win el S "Tnvalid!
23 5 0e0 S »wim el S invalid'
24 +Ovreo 1<t i el S "invalid'
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Test design teschnbgues preceryibed

im ISOMTEC/EEE 2291 19-4 ]
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Claesification tree methosd Bramwch testing
[ - | =s3.2)
- - - -
" N i - -~ 7
Bowndarny walee anabysis Do
5.2.3) =3=33)
e, - e, >
o —~ - ~
Symitao hesting Branch comnditiomn testimng
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